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1. This paper consists of 100 multiple choice questions (M.C.Q.). All questions are Compulsory and
carry 01 mark each. There is no negative marking.
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2. Each question has four alternative responses marked (A), (B), (C) and (D). You have to choose an
appropriate answer option and mark it on the OMR sheet.
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3. For marking answers on OMR sheet, follow the detailed instructions given on the OMR Sheet.
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4. Use only Blue or Black ball point pen for marking on OMR.

��
1)�1���1	��	�,��	&%��
	�
	�&)	�
�&	��&�	��	��&�	��2&	3����*	� �	��	��	���
��&	���+)!



C-1216 / FES-(B)10 (2)



C-1216 / FES-(B)10 (3) [P.T.O.

1. The word "ecosystem" was coined by

(A) AG Tansley (B) Robert Brown

(C) Julian Huxley (D) Ernst Haeckel
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2. Which of the following is decomposer?

(A) Green Plants (B) Birds

(C) Reptiles (D) Bacteria
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3. In aquatic ecosystem, the producers are

(A) Zooplankton (B) Phytoplankton

(C) Fungi (D) Small fishes
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4. In which of the following has always upright pyramid?

(A) Energy (B) Biomass

(C) Number (D) None of the above
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5. The word "biodiversity" is used for ________

(A) Animals only (B) Animals and Plants only

(C) Plants, animals and microbes (D) viruses only
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6. Which of the following is example of in-situ conservation method?

(A) National Parks (B) Wildlife Sanctuaries

(C) Biosphere Reserves (D) All of the above
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7. Gir National park is located in the state___

(A) Rajasthan (B) Himachal Pradesh

(C) Gujarat (D) Tamil Nadu
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8. Which of the following is first national park of India?

(A) Gir National Park (B) Kaziranga National Park

(C) Corbett National Park (D) Valley of flower National Park
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9. Which one of the following is state flower of Uttarakhand?

(A) Saussurea obvallata (B) Myrica esculenta

(C) Rhododendron arboretum (D) Hibiscus rosa-sinensis
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10. Which of the following is major threat to biodiversity?

(A) Air Pollution (B) Habitat Loss

(C) Poaching (D) Water Pollution
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11. Light, temperature, humidity and pH are examples of_____

(A) Biotic factors (B) Abiotic factors

(C) Producers (D) None of above
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12. How many biodiversity hot spots are present in India?

(A) Two (B) Four

(C) Five (D) Three

"����	�
�	����
	+ �����>��	��2*	���2*	� �8

(A) 
�
 (B) ,��

(C) ���, (D) ���



C-1216 / FES-(B)10 (6)

13. Which of the following is responsible for formation of acid rain?

(A) NOx (B) CO2

(C) SOx (D) NOx and SOx both
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(A) NOx (B) CO2

(C) SOx (D) NOx and SOx both

14. Eutrophication is related to ______

(A) Soil pollution (B) Water pollution

(C) Noise Pollution (D) Air Pollution
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15. Ozone layer depletion, acid rain, global warming are consequences of _______

(A) Water pollution (B) Air pollution

(C) Noise pollution (D) Soil Pollution
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16. Which of the following protocol is related to reduction of greenhouse gas emission?

(A) Montreal Protocol (B) Helsinki protocol

(C) Kyoto Protocol (D) None of the above
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17. Sulphur di-oxide is responsible for________

(A) Asthma (B) Skin Problem

(C) Itai itai Disease (D) Blue baby syndrome

���E�	=��#	��/���=	 111111111111111	�
	 �&)	'(��
���	� 

(A) ��4���	 �
	 �&) (B) ,�#	 �������
�	 �
	 �&)

(C) ����#	 �LM��#	 ��
%	 �
	 �&) (D) �&A	 �
��	 ���=C�
�	 �
	 �&)

18. The expanded form of PAN is________

(A) Per Oxy Acytyl nitrates (B) Per Oxygen Acid nitrate

(C) Per Oxy acetic nitrite (D) None of the above
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19. Which one of the following is negative impact of dams?

(A) Employment (B) Energy production

(C) Deforestation (D) All of the above
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20. Which one of the following is non-conventional energy resource?

(A) Tidal Energy (B) Coal

(C) Petroleum (D) Fossils fuel
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21. The grassland food chain is designated as - Grass----Rat---- Snake" . In this food chain, the Rat
is__________

(A) Primary Consumer (B) Primary Producer

(C) Secondary Consumer (D) Tertiary Consumer
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22. In India, Shifting cultivation is mostly practiced in _______

(A) Kerala (B) Rajasthan

(C) North-east region (D) Andaman &amp; Nicobar
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23. Sardar Sarovar dam is constructed over______

(A) Ganga River (B) Narmada River

(C) Kaveri River (D) Brahmaputra River
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24. Which one of the following is alternative source of energy?

(A) Solar energy (B) Wind energy

(C) Tidal energy (D) All of the above
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25. Which energy is derived from biological components?

(A) Tidal energy (B) Nuclear Energy

(C) Biomass energy (D) Hydropower energy
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26. Wildlife Institute of India (WII) is located in___

(A) Almora (B) Nainital

(C) Dehradun (D) Srinagar
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27. Which one of the following is not a benefit of forest?

(A) Medicinal value (B) Commercial value

(C) Recreational value (D) Biodiversity degradation

��5�	�
�	�
	�� �6��	���
�	��	&�"�	����	� 8

(A) �� B�>��	 ��(� (B) V�������	 ��(�

(C) ����
��
	 ��(� (D) + �	 ����>��	 ���:�

28. According to scientists, India should have_____forest cover?

(A) 50% (B) 33%

(C) 10% (D) 70%
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29. Gaussian Plume model is used for ___

(A) Air Pollution (B) Water Pollution

(C) Noise Pollution (D) Soil Pollution
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30. Pani Panchayat movement was started by_____

(A) Padurange Hedke (B) Vilasrao Salunke

(C) Medha Patkar (D) R Mishra
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31. Which of the following plant is related with Hindu mythology?

(A) Peepal (B) Tulsi

(C) Ashoka (D) All of the above
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32. Chernobyl disaster was happened in the year _____

(A) 1984 (B) 1985

(C) 1986 (D) 1987
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33. Which of the following is biodegradable waste?

(A) Plastic (B) Polythene

(C) Remaining scraps of vegetables (D) none of the above
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34. Incineration is a process in which solid waste is

(A) Burnt out (B) Deposited

(C) Segregated (D) Used for vermi-compositing
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35. The Environment Protection Act was passed in the year

(A) 1980 (B) 1982

(C) 1984 (D) 1986
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(C) 1984 (D) 1986

36. The Wildlife Protection Act was passed in the year_______

(A) 1971 (B) 1972

(C) 1974 (D) 1986
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37. The World Environment Day is celebrated on_____

(A) 5th May (B) 5th June

(C) 5th July (D) 5th August
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38. The book "Silent Spring" was written by_______

(A) Arne Neaes (B) Rachel Carson

(C) Paul Ehrlich (D) Darwin
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39. The causative agent of the malaria is _______

(A) Plasmodium (B) Salmonella

(C) Hepatitis virus (D) Entamoeba histolytica

�&
����	��	����	 111111111111111111	� 

(A) 3&����
�=�� (B) �
���
�
&�

(C) �
�
*���*�	 ��B��:�� (D) ��*�����	 ���*�
�&�*��

40. Which one of the following is air borne disease?

(A) Typhoid (B) Cancer

(C) Tuberculosis (D) Dysentery
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41. Minamata disease was happened due to ______

(A) Arsenic (B) Mercury

(C) Chromium (D) Lead

��������	��
%	111111111111111	�
	���:�	���#	4��

(A) ���
#���	 �
	 ���:� (B) �����	 �
	 ���:�

(C) ��
����	 �
	 ���:� (D) ������	 �
	 ���:�

42. Which of the following is water and food borne diseases?

(A) Typhoid (B) Cholera

(C) Dysentery (D) All of the above
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43. The expanded form of WHO is________

(A) World Human Organization (B) Water Health Organization

(C) World Health Organization (D) World Health Office
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44. The following are water borne disease except_________

(A) Cholera (B) Typhoid

(C) Hepatitis A (D) Measles
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45. Cancer causing agents are called _____

(A) Pollutants (B) Carcinogens

(C) Toxicants (D) Xenobiotics
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46. The thickness of ozone layer is measure in ______

(A) Millimeter (B) Centimeter

(C) Decibels (D) Dobson Unit
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47. Salim Ali is well known________

(A) Entomologist (B) Ornithologist

(C) Herpetologist (D) Ichthyologist
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48. Famous book of Darwin is_________

(A) Origin of species (B) Silent Spring

(C) Species Plantarum (D) Nature
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49. Which factor is responsible for wasteland genesis?

(A) Soil Erosion (B) Deforestation

(C) Overgrazing (D) All of the above
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50. Which is non-renewable energy resource?

(A) Sun (B) Geothermal

(C) Coal (D) Wind
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51. Biogas is produced from_________

(A) Plant material) (B) Geothermal

(C) Coal (D) Wind
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52. Herbivores animals are generally______

(A) Producers (B) Primary consumers

(C) Secondary Consumers (D) Decomposers
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53. Which one of the following is freshwater ecosystem?

(A) Pond (B) Coral reefs

(C) Deep Ocean (D) Delta
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54. Different species of plants and animals present in a region  known as_______

(A) Genetic Diversity (B) Species Diversity

(C) Invasive diversity (D) None of the above
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55. Which one of the following is secondary pollutant?

(A) NO2 (B) SO2

(C) PAN (D) None of the above
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56. Which one of the following is / are cause of soil pollution?

(A) Excessive use of Insecticide (B) Dumping of Solid Waste

(C) Soil Erosion (D) All of the above
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57. Any undesirable changes in physical, chemical and biological properties of environment is called
as_________

(A) Disaster (B) Pollution

(C) Biomagnification (D) Bioremediation
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58. Montreal protocol is related with________

(A) Depletion of Ozone layer (B) Global warming

(C) Marine Pollution (D) Green House gases

��
��*C�&	���
*�
��2&	 111111111111111111111	�
	�5���>	� 

(A) ��
+�
�	 ���	 �
	 ���:�	 �
 (B) � �	 JK�	 'B:���	 �


(C) ���
��	 ��
AB�:�	 �
 (D) %���	 ��'�	 % ��
�	 �


59. Detritus food chain starts from_______

(A) Green Plants (B) Organic matter

(C) Primary consumers (D) Secondary Consumers
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60. Which of the following causes global warming?

(A) Carbon dioxide (B) Oxygen

(C) Nitrogen (D) Hydrogen
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61. Ozone is found in___________

(A) Troposphere (B) Ionosphere

(C) Stratosphere (D) Troposphere and Stratosphere both
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62. Which one of the following are producers of aquatic ecosystem?

(A) Bacteria (B) Phytoplankton

(C) Zooplankton (D) Fungi
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63. Which of the following is decomposer?

(A) Algae (B) Fungi

(C) Bacteria (D) Virus

��5�	�
�	�
	�� �6��	��7�*�	� 8

(A) �� ��& (B) ���

(C) +���:�� (D) ��B��:��

64. In grassland ecosystem, the primary consumer is_______

(A) Grass (B) Snake

(C) Rabbit (D) Large trees
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65. In aquatic ecosystem, the main source of energy is________

(A) Zooplankton (B) Sun

(C) Fishes (D) Rotifers
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66. Which of the following is a Biosphere Reserve?

(A) Askot (B) Kedarnath

(C) Nanda Devi (D) Jhilmil Jheel
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67. Which of the following is threat to biodiversity?

(A) Habitat loss (B) Poaching

(C) Pollution (D) All of the above
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68. Which of the following is example of Ex-situ conservation method?

(A) Wildlife Sanctuary (B) Seed Banks

(C) Biosphere Reserves (D) National Parks
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69. Scientific name of Burans tree is________

(A) Ficus religiosa (B) Rhododendron arboreum

(C) Saraca asoca (D) Azadirachta indica
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70. Which one of the following is not situated in Uttarakhand?

(A) Corbett National Park (B) Dudhwa National Park

(C) Valley of flower National Park (D) Govind Pashu Vihar National Park
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71. Terrestrial biodiversity is usually more near the_____________

(A) North Pole (B) Equator

(C) South Pole (D) Tropic of cancer
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72. Bacteria, fungi, annelid and fishes are examples of _______

(A) Biotic factors (B) Abiotic factors

(C) Producers (D) None of above
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73. Which of the following is primary consumer?

(A) Green Plants (B) Lion

(C) Bacteria (D) Goat
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74. The main causes of Eutrophication is ______

(A) Nitrates &amp; Phosphates (B) Arsenic &amp; Cadmium

(C) Calcium &amp; Iron (D) Chromium &amp; Phosphates
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75. Main cause of Ozone layer depletion is______

(A) CO2 (B) NO2

(C) CFCs (D) CH4
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76.  Which of the following gases has second highest concentration in the atmosphere?

(A) N2 (B) O2

(C) CO2 (D) H2
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77. Which of the following is natural cause of air pollution?

(A) Pesticides and insecticides (B) Volcanic eruption

(C) Transportation (D) Industrialization
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78. The cause of radioactive pollution is________

(A) Domestic sewage (B) Domestic solid waste

(C) Nuclear accidents (D) Volcanic eruption
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79. Which one the following disaster is manmade?

(A) Tornadoes (B) Tremor

(C) Industrial Fire (D) Tsunami
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80. Expanded form of NDRF is_______

(A) National Disaster Response Force (B) National Disaster Relief Fund

(C) National Disaster Reliable Force (D) National Disaster Remand Force
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81. Which of the following is consequence of excessive release of Carbon di-oxide in the atmosphere?

(A) Eutrophication (B) Biomagnification

(C) Biodiversity depletion (D) Global warming

��5�	�
�	�
	�� �6��	���:���	���#�	=��#	��/���=	�
	������=&	�
�	�$��>�	�����#	�
	���:�	��
��	� 8

(A) ����
B�:� (B) + ���	 ���>#�

(C) + �	 ����>��	 ���:� (D) � ����	 'B:���

82. Which one of the following is positive impact of dams?

(A) Employment

(B) Energy production

(C) Both Employment and Energy production

(D) Prevent Ecological flow
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83. Which of the following is / are examples of Freshwater ecosystem?

(A) Rivers (B) Lakes

(C) Ponds (D) All of these
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84. Edaphic factors are related to __________

(A) Water (B) Humidity

(C) Soil (D) None of the above
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85. Energy flow in ecosystems is according to _______________

(A) First Law of Thermodynamics

(B) Second Law of thermodynamics

(C) First and Second Law of thermodynamics

(D) None of the above
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86. Which one of the following is medicinal plant?

(A) Azadirachta indica (B) Aloe vera

(C) Ocimum sanctum (D) All of the above
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87. Helsinki Protocol is related to_________

(A) Reduction of Industries (B) Reduction of SO2

(C) Reduction of CFCs (D) Reduction of CO2
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88. Appiko Movement was started in the state of ___________

(A) Kerala (B) Rajasthan

(C) Tamil Nadu (D) Himachal Pradesh
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89. Who is associated with Chipko movement?

(A) Sundar Lal Bahuguna (B) Amrita Devi

(C) Sugatha Kumari (D) Medha Patkar
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90. Sacred Grooves are related to_________

(A) Environmental Pollution (B) Employment

(C) Biodiversity Conservation (D) Hydropower projects
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91. Which one of the following is air pollutant?

(A) Nitrogen Di-oxide (NO2) (B) Sulphur Di-Oxide (SO2)

(C) PAN (D) All of the above
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92. Mismanagement of solid waste may lead to________

(A) Water Pollution (B) Land Pollution

(C) Air Pollution (D) All of the above
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93. Which of the following is responsible for degradation of biodegradable waste?

(A) Viruses (B) Protozoa

(C) Bacteria (D) none of the above
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94. Ozone is harmful only in _________

(A) Troposphere (B) Stratosphere

(C) Exosphere (D) Ionosphere
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95. Which of the following are biological factors?

(A) Rabbit (B) Temperature

(C) Rain water (D) All of these
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96. Which of the following is/are environmental factors?.

(A) Plants (B) Animals

(C) Soil (D) All of these
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97. Which of the following disease is caused by bacteria?

(A) Cholera (B) Typhoid

(C) Malaria (D) (A) and (B) both
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98. Which of the following is toxic to human body?

(A) Arsenic (B) Cadmium

(C) Mercury (D) All of the above
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99. Which of the following technique is known as water saving technique?

(A) Agroforestry (B) Vermicomposting

(C) Rainwater harvesting (D) All of the above
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100. Endemic species are ________

(A) Found everywhere (B) Found in Specific area

(C) Found in glaciers only (D) None of the above
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